Q5-7570-A

L-Pocket with Cover

L-Track Floor Pocket with Cover

(2) 5/16” (8mm) Bolts 1.5” (38mm) in length
Washer and (2) Hex Nuts

FE201163

Flush Mount L-Pocket

L-Track Floor Plate

7/16" (11mm) Bolt 3.5” (89mm) in length
Washer and Hex Nut

T

-

Q5-7571-A

Oval L-Pocket4 (.26” diameter)

L-Track Floor Pocket

3/8" (9.5mm) Bolt 2.5” (63.5mm) in length
Washer and Hex Nut

Q8-7580-A

Slide ‘N Click Floor Anchor

Bottom Assembly

3/8" (9.5mm) Bolt 2.5” (63.5mm) in length
Washer, Hex Nut and Blue Plug

O
@
&

R

Q5-8525-SC2

Slide ‘N Click Stowage Bracket
e Bracket has passed the vibration and crash test and is
designed to be mounted on the vehicle interior walls

Holds (2) Slide ‘N Click Retractors

Q5-8525-SC

Slide ‘N Click Stowage Bracket
e Bracket has passed the vibration and crash test and
is designed to be mounted on the vehicle interior walls

Holds (4) Slide ‘N Click Retractors

27



FE201006
5/16"(8mm) Track Bolts

T
©

QC06058
End Cap for Flange Series L-Track

QC06059

End Cap for Surface Angled Series
L-Track

SYSTEM ACCESSORIES

FE200739

Series L Track Double Lug
Stud Fitting

This fitting is used as a bolt-on anchoring
point for Series L Track applications where
higher strength than the FE200744 is
required.

FE200744
Series L Track Seat Stud Fitting

For use in mounting vehicle seats into
Series L Track.

FE200751
Plastic Filler Strip

For use with Series L Track only. 25’ per roll.

FE200742
Series A Floor Plate Kit

Kit includes: FE200740 (Qty. 1) Floor Plate FE200741 (Qty. 1)
Backing Plate GR5 Carriage Bolts (Qty. 4) %"-16 x 2" Nylon Lock Nuts (Qty. 4)
%"-16 Washers (Qty. 4) %" 1.D. x 2%,” O.D. x %" Thick

28






